Pre-Calculus Math 11

Section Q.5 — Practice Problems

Square the expression
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Determine the restriction on the radical equation
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Solve the radical equation
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25. The maximum distance, d, in kilometers that a person can see from a height, h, in kilometers above the

ground is d = 111.7vh. Find the height in meters that would allow a person to see 75 kilometers.
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26. The formula v = ,/2gh relates velocity, V, in meters per second of an object after h meters accelerated by
gravity, g, in meters per second squared. If g is approximately 9.8m/s?2, how far has an object fallen if its
velocity is 30m/s?
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